=
<

o(0 @) (rad)

a(d cot(d))

=
2
N

o 1074 § o n
% o I % 1.2 -] I
14 [ : 14 FTIt 1
r He 1 ib- 14T -
1= w1 L -+
[ H 4 0.8 +| -
o N o & 4
107 1 107 1

2 3
TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—e— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewALL1000time__RECO

= £ :
2 e :
% = P
> o :
5 5 :
1072 :
.910—3: .910-%_ dbly | A bbbl |
< 2F-beeee I F 1T
14 r 14 1.5p------- T '
1:_- “-+— ----------------------- 15____l_i__ 1»_5‘" ____"____:_
L + :l H o J_ HES 4 H
-1 2 3 -1 2 3
10 1 TPlp?T (PCA tjbobeamliné'f) 10 1 TPlp?T (PCA tjbobeamliné'f)
~ 1=
o [:
D_)— L.
5 L.
S L

-




	Contents
	Page 1


